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98. You own a fancy light bulb factory.  Your workforce is a bit clumsy – they keep dropping 
boxes of light bulbs.  The boxes have varying numbers of light bulbs in them, and when 
dropped, the entire box is destroyed.   

 
You are given: 
 

Expected number of boxes dropped per month:    50 
Variance of the number of boxes dropped per month:  100 
Expected value per box:  200 
Variance of the value per box:  400 

 
You pay your employees a bonus if the value of light bulbs destroyed in a month is less 
than 8000. 
 
Assuming independence and using the normal approximation, calculate the probability 
that you will pay your employees a bonus next month. 
 
(A) 0.16 

 
(B) 0.19 

 
(C) 0.23 

 
(D) 0.27 

 
(E) 0.31 
 

99. For a certain company, losses follow a Poisson frequency distribution with mean 2 per 
year, and the amount of a loss is 1, 2, or 3, each with probability 1/3.  Loss amounts are 
independent of the number of losses, and of each other. 
 
An insurance policy covers all losses in a year, subject to an annual aggregate deductible 
of 2. 
 
Calculate the expected claim payments for this insurance policy. 
 
(A) 2.00 

 
(B) 2.36 

 
(C) 2.45 

 
(D) 2.81 

 
(E) 2.96 
 


